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P : nd HARIF 8 |REFIERETE (FiaT) nd nd nd 0.73
R T IRE#EPH : 0.73~0.74 TR 9 |FEETHHABREEMZEAT AR TH) nd nd nd 0.74
B FIRE : 0.74 KB | 10 | KA RfFE2 5 ERIER  (RIH) nd nd nd 0.74
TR T RRAE - 2.2 TR 11 | R R RS ER B v v 7 —  (fEET) nd nd nd 0.73
FNR 12 Bl sehifnt (Bl =) nd nd nd 0.73
P 13 | RsREie v 2 — () nd nd nd 0.74
(BEWE) 1)L (RNt 1 [RemdzmE (A ) 0.17 | 028 | 032 0.0024
FEMIBREINA - KR (HAL @ ng/m’) R 2 | RS BB R v 2 — (Th) 073 | 092 1.1 0.0024
S — 2 B 19/19(% 1% - 0) AR 3 |HOREERE R A SEAT (L ARX) 1.2 0.75 1.2 0.0024
TS — 2 LS+ S2/52(R % ¢ 5) 4 |INEIFAR USRS 0.62 | 046 | 0.50 0.0024
TR : 0.17~4.0 PRI | 5 [RRINRBREER 2 v 7 — (T 1.1 23 0.52 0.0024
B TR &P © 0.0024~0.0026 IRy T 6 | KRET—MEREERKIER (INRTH) 3.0 0.73 | 0.54 0.0026
i T RRAE : 0.0024 A ) 1] 7 | ERE Y v & — (SR 021 | 025 | 028 0.0024
FORMH TERAE - 0.01 B3ag] 8 |REFRBRER AT (BEH) 0.46 | 0.56 3.0 0.0024
AdE | 9 [ TRREmRAR (4R 0.43 - 0.50 0.0024
TR 10 |FEIFFIERAEITE (FIAT) 1.4 0.61 0.0024
FERT 11 PR A BR B 2T (RUHT ) 0.66 13 0.43 0.0024
KBF 12 | KBRARFE22aERIAE (RN 0.54 | 0.89 1.6 0.0024
ST R 13 [UHATI#EAr (AT 13 22 0.54 0.0024
14 [y et Oy 1) 0.94 1.5 0.76 0.0025
gL | 15 [Foskil RERBERTAEBFE R v & — CRuakilT) - 090 | 053 0.0024
[i] 111 Uk 16 |IAVC—MERERKPER (Bh) 40 | 046 1.0 0.0024
7 I e 17 |8 RN AR IR BB v & — (B T) - 0.82 0.0024
e | 18 [AEJuN iR s BEprgE AT (AR TLN i) 0.86 13 0.93 0.0024
Ko 19 | KOMSEEK G /NER (KTh) 1.6 0.56 2.0 0.0024
[421 7 V&> & AR 0.026 | 0.055 | 0.068 0.025
FEMIBRESINA « KE(EAT @ ng/m’) PRI 2 |ARBRER BB R A v 2 — (AT 0.15 | 037 | 0.29 0.025
HR A~ — 2R AEEE © 18/19(K % : 0) AR 3 |HORERBREE RS (LX) 0.15 | 0.058 | 0.25 0.025
FRARAS— A BB« 49/52(R % - 5) 4 INEIRAR USRS nd nd nd 0.025
&P : nd~1.4 PRI | 5 [RRIINRBREER -t v 2 — (CEET) 028 | 0.79 | 0.090 0.025
T BRE IR : 0.025~0.027 J Iy T 6 | KRA—MBRERSE R () 050 | 0.13 | 0.12 0.027
T FRRAE ¢ 0.025 7)1 5% 7 | ENRAR SR v & — (AR 0.034 | 0.056 | 0.050 0.025
SRR T RRAE : 0.01 Ry 8 | R RBRBEM AT (REH) 0.084 | 0.12 1.3 0.025
AR | 9 [ THERKEmMAR (4 &R 0.086 | - 0.14 0.025
TCER I 10 |mEFFIRRATESE (FHhH) - 037 | 0.17 0.025
TR 11 [FEB i A BREEMF ST (el i) 0.17 | 039 | o0.11 0.025
NG 12 | KkBA R a2 B AERIAE (RIRT) 0.084 | 0.16 | 0.40 0.025
S B 13 |NATHIB T (AT 048 | 0.85 | 025 0.025
14 [yt Omdy i) 0.19 | 026 | 0.15 0.026
ki | 15 [Fnak LR BREEAT AR v 2 — CRakLiT) 032 | 012 0.025
fi] | Ly S 16 [T —RRERBERRMER (BHTh) 1.4 0.11 | 035 0.025
T R 17 |8 RS R RSB o & —  (FlJE ) 0.28 0.025
eI | 18 [AEJuN mifR e BR B ZE T (AL JLN i) 025 | 034 | 025 0.025
Koy I 19 [ Ko dise RS /R (K4TH) 055 | 022 | 058 0.025
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R 7 Hh A . T E A A
LR N e R FRTRL | Falha [ TRlka | bttt FIRdE

[431 XV [a]T v bk i 1 [REAR (hET) nd | 0.032 | 0.039 0.024
FEMIBRESINA « KE(EAL : ng/m’) PRI 2 KBRS EERER e v 2 — (T 0.081 | 023 | 0.13 0.024
A~ — 2R AEEE © 18/19(K % : 0) OB 3 BRI RS (LX) 0.093 | 0.025 | 0.13 0.024
TR — A B« 48/52( K% - 5) 4 INEIRAE UNERED) nd nd nd 0.024
&P © nd~1.2 RN | 5 [RNREER Y2 2 — (FET) 021 | 0.51 | 0.038 0.024
T BRE IR : 0.024~0.026 JIHy T 6 | KA —MBRERSE R () 0.25 | 0.062 | 0.053 0.026
T T BRAE : 0.024 )11 7 |ANRREEREEE 2 — (&IRTH) 0.029 | 0.052 | 0.033 0.024
SRR T RRAE ¢ 0.01 By IR 8 | RUPRERBEMR AT (RE) 0.051 | 0.064 | 0.93 0.024
AR | 9 [ THREmMAR (4 &R 0.046 | - | 0.079 0.024
TCER I 10 |REFFIRRAITE (FHhH) - 0.18 | 0.083 0.024
TR 11 | AR BR AR JE T L) 0.074 | 021 | 0.051 0.024
NG 12 | KkBA R a2 AR RIAE (RIRT) 0.033 | 0.060 | 0.16 0.024
S B 13 |NATHIB T (AT 034 | 067 | 0.17 0.024
14 [yt Omdy i) 0.097 | 0.14 | 0.073 0.025
FEkiib | 15 Rk R BREEAT AR v 2 — CRak(LiT) 0.20 | 0.061 0.024
fi] | Ly U 16 [T —RREREERKMER (BT 12 | 0062 [ 0.16 0.024
T R 17 |8 RS R RSB o & —  (FEJE ) 0.17 0.024
eI | 18 [AEJuN mfR R ER B ZE T (AR LN TT) 0.12 | 0.17 | 0.095 0.024
Koy bk 19 [ KR disc RS /R (KR4TH) 023 | 011 | 037 0.024
[4-4) X BITNET T (RNt 1 [RemdzpE (A ) 0.023 | 0.051 | 0.069 0.022
FEMIBREIA - KR(HAL © ng/m’) R 2 RS BB R v 2 — (Th) 0.15 | 037 | 029 0.022
S — 2 B ¢ 18/19(K I - 0) AR 3 |HOREERE R AR (LX) 0.11 | 0.046 | 0.29 0.022
RS — 2B A« 49/52( K% - 5) 4 [IEIRRE UNEIER) nd nd nd 0.022
I nd~1.1 PRI | 5 [RRIITRBREER 2 v ¥ — (CFRET) 025 | 0.62 | 0.070 0.022
B TR &GP © 0.022~0.023 IRy T 6 | KA —MEREERKIER (INRTH) 048 | 0.12 | 0.10 0.023
T T RRAE ¢ 0.022 A ) 1] I 7 |ENRARERE Y v & — (SR 0.029 | 0.044 | 0.040 0.022
FORMEH TERAE - 0.01 Bgag] 8 |RERBREREMIEA (BEH) 0.067 | 0.085 | 0.93 0.022
AR | 9 [ TRRSEmRAR (4R 0.098 0.23 0.022
BT 10 | FAEFFIRR A TS (FiRT) 0.71 | 0.16 0.022
FER T 11 PR A BR R ST (RUHT ) 020 | 033 | 0.11 0.022
KBF 12 | KBRARFE22ERIAE (M) 0.076 | 0.16 | 0.42 0.022
ST R 13 [UHATHIREAr (AT 043 | 081 | 022 0.022
14 )i Cndy) 1) 0.15 | 021 | 0.15 0.023
gL | 15 [Foskil REREERTAEBFE R v & — CRuakilT) - 028 | o011 0.022
] | L1 I 16 |[VC—MRERERKPER (Bh) 1.1 | o011 | 034 0.022
7 I e 17 | RN AR IR BB o & —  (FE ) - 0.30 0.022
e | 18 [AESuN mifR s BEprgE AT (AR LN TiT) 021 | 035 | 023 0.022
Ko 19 | KO HSEE K/ NER (KoTh) 049 | 021 | 049 0.022
[4-51 Ry V17N AT T e I EEA D) 0.016 | 0.038 | 0.048 0.0049
FEMIBREEINA  KE(EAT @ ng/m’) PRI 2 |ARBRRER S WEREER A v 2 — (AT 0.10 | 021 | 021 0.0049
HR A~ — 2R AEEE © 18/19(K % : 0) AR 3 |HORERBREER SR (LX) 0.060 | 0.028 | 0.13 0.0049
FRARAS— A BB« 49/52(R % - 5) 4 INEIRAR UNERED) nd nd nd 0.0049
&P © nd~0.66 PRI | 5 [RRIINRBREER v 2 — (R 0.14 | 0.50 | 0.042 0.0049
T BRE LR : 0.0049~0.0052 JIHy T 6 | KRA—MBRERSE R (T 0.21 | 0.057 | 0.057 0.0052
T FRRAE : 0.0049 7)1 5% 7 | ENRGRESR S v & — (@R 0.023 | 0.035 | 0.028 0.0049
SRR T RRAE ¢ 0.01 By IR 8 | RUpRBRBEM AT (REH) 0.046 | 0.059 | 0.66 0.0049
AR | 9 [ THREmMAR (4 &R 0.057 | - 0.12 0.0049
TCER I 10 |[FEFFIERE TS (TG 025 | 0.082 0.0049
TR 11 |FEB i A BREEMF ST AT (Rl i) 0.098 | 0.18 | 0.056 0.0049
NG 12 | KBA R a2 AR RIAE (RIRT) 0.046 | 0.085 | 0.22 0.0049
S B 13 |NATHIB T (AT 023 | 040 | o0.11 0.0049
14 [yt Omdy i) 0.10 | 0.13 | 0.077 0.0051
ki | 15 [k LR BREEAT AR R v 2 —  CRakLiT) 0.13 | 0.078 0.0049
fi] | Ly S 16 [T —RRERBERKMESR (BHTh) 0.56 | 0.068 [ 0.19 0.0049
T R 17 |8 RS R RSB o & —  (FlJE ) 0.15 0.0049
eI | 18 [AEJuNmfR e BR B ZE T (AL ILN i) 0.10 | 0.15 | 0.10 0.0049
Koy bk 19 [ KR dise RS /R (K4TH) 022 | 010 | 023 0.0049
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g 7 Hh A ;. T TE A A
LR N e R FRTRL | Blha [ TRlha | bttt FIRde

[4-6] X VK17 NFT T i 1 [REAR (hET) 0.011 | 0.028 | 0.033 0.0075
FEMIBRESINA - KE(EAL : ng/m’) PRI 2 |ARBIRER BB R A v 2 — (AT 0.077 | 0.18 | 0.14 0.0075
A~ — 2R AEEE © 18/19(K % : 0) OB 3 BRI RS (LX) 0.056 | 0.021 | 0.12 0.0075
TR — A BB« 49/52(K % - 5) 4 INEIRAE UNERED) nd nd nd 0.0076
&P © nd~0.53 RN | 5 [RNREER Y2 2 — (FET) 0.12 | 033 | 0.034 0.0075
T T BRE &R : 0.0075~0.0081 J 1y T 6 | KA —MBRERSUE R (T 0.19 | 0.048 | 0.046 0.0081
o FERAE : 0.0076 7)1 5% 7 | ENRGRESR S 2 — (@R 0.016 | 0.023 | 0.020 0.0075
SRR T RRAE ¢ 0.01 By IR 8 | RUPRERBEMR AT (RE) 0.030 | 0.037 | 0.39 0.0075
AR | 9 [ THREmMAR (4 &R 0.041 — | 0.09 0.0076
TCER I 10 |REFFIRRAITE (FHhH) - 021 | 0.065 0.0075
TR 11 | AR BR AR JE T L) 0.070 | 0.14 | 0.042 0.0075
NG 12 | KkBA R a2 AR RIAE (RIRT) 0.031 | 0.062 | 0.17 0.0075
S B 13 |NATHIB T (AT 020 | 036 | 0.097 0.0075
14 [yt Omdy i) 0.070 | 0.090 | 0.061 0.0078
FEkiib | 15 Rk R BREEAT AR v 2 — CRak(LiT) 0.12 | 0.052 0.0075
fi] | Ly U 16 [T —RREREERKMER (BT 0.53 | 0.042 [ 0.14 0.0075
T R 17 |8 RS R B o & —  (FlEJE ) 0.13 0.0076
eI | 18 [AEJuN mfR R ER B ZE T (AR LN TT) 0.079 | 0.13 | 0.082 0.0075
Koy I 19 [ KR dise RS /R (K4TH) 0.19 | 0.077 [ 0.20 0.0075
[4-7] N> V[alE L (RNt 1 [RemdzpE (A ) nd | 0.050 | 0.056 0.025
FEMIBREIA - KR(HAL © ng/m’) R 2 RS BB R v 2 — (Th) 0.14 | 034 | 0.21 0.025
S — 2 B ¢ 18/19(K I - 0) AR 3 |HOREERE R AR (LX) 0.11 | 0.037 | 0.21 0.024
RIS — 2 W A« 48/52( K% - 5) 4 [IEIRRE UNEIER) nd nd nd 0.025
P © nd~0.98 PRI | 5 [RRIITRBREER 2 v ¥ — (CFRET) 023 | 0.61 | 0.056 0.025
T IR &EDE © 0.024~0.026 IRy T 6 | KA —MEREERKIER (INRTH) 0.30 | 0.084 | 0.071 0.026
T T IRME : 0.025 A ) 1] I 7 |ENRARERE Y v & — (SR 0.033 | 0.048 | 0.035 0.025
FORMEH TERAE - 0.01 Bgag] 8 |RERBREREMIEA (BEH) 0.059 | 0.066 | 0.80 0.025
AR | 9 [ TRRSEmRAR (4R 0.068 0.15 0.025
BT 10 | FAEFFIRR A TS (FiRT) 0.39 | 0.097 0.025
FER T 11 PR A BR R ST (RUHT ) 0.12 | 0.24 | 0.063 0.025
KBF 12 | KBRARFE22ERIAE (M) 0.046 | 0.089 | 0.26 0.025
ST R 13 [UHATHIREAr (AT 040 | 077 | 0.16 0.025
14 [y )it Omndy i) 0.13 | 0.21 | 0.094 0.025
gL | 15 [Foskil REREERTAEBFE R v & — CRuakilT) 020 | 0.087 0.025
[ 111 Bk 16 |[VC—MRERERKPER (Bh) 0.98 | 0.082 [ 023 0.025
i I e 17 | RN AR IR BB o & — (B ) - 0.20 0.025
e | 18 [AESuN mifR s BEprgE AT (AR LN TiT) 0.11 | 019 | 0.11 0.025
Ko 19 | KO HSEE K/ NER (KoTh) 031 | 013 | 035 0.025
[4-8] Ry Vel L v e I EEA D) 0.016 | 0.045 | 0.055 0.013
FEMIBREEINA  KE(EAT @ ng/m’) PRI 2 |ARBRRER S WEREER A v 2 — (AT 0.15 | 033 | 027 0.013
HR A~ — 2R AEEE © 18/19(K % : 0) AR 3 |HORERBREER SR (LX) 0.10 | 0.046 | 0.27 0.013
FRARAS— 2 BB« 49/52(R % - 5) 4 INEIRAR USRS nd nd nd 0.013
&P © nd~0.80 )R | 5 [RNRESER 22— (FET) 023 | 0.60 | 0.063 0.013
T BRE IR : 0.013~0.014 J Iy T 6 | KRA—MBRERSE R () 0.46 | 0.12 | 0.087 0.014
T FRRAE : 0.013 7)1 5% 7 | ENRAR R v & — (AR 0.027 | 0.037 | 0.034 0.013
SRR T RRAE ¢ 0.01 Ry R 8 |RUpRERBEM AT (RE) 0.058 | 0.069 | 0.72 0.013
AR | 9 [ THRKEmMAR (4 &R 0.077 | - 0.17 0.013
TCER I 10 |[REFFERE TS (TG - 0.63 | 0.11 0.013
TR 11 |FEB i A BREEMF ST (el i) 0.18 | 0.24 | 0.074 0.013
NG 12 | KkBA R a2 AR RIAE (RIRT) 0.060 | 0.13 | 033 0.013
S B 13 |NATHIB T (AT 034 | 0.65 | 0.16 0.013
14 [yt Omdy i) 0.12 | 018 | 0.11 0.014
ki | 15 [k LR BREEAT AR R v 2 —  CRakLiT) 0.21 | 0.091 0.013
fi] | Ly S 16 [T —RRERBERKMESR (BHTh) 0.80 | 0.082 [ 0.24 0.013
T R 17 |8 RS R RSB o & —  (FlJE ) 0.20 0.013
eI | 18 [AEJuNmfR e BR B ZE T (AL ILN i) 0.14 | 026 | 0.15 0.013
Koy I 19 [ KR dise RS /R (K4TH) 035 | 015 | 035 0.013
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R 7 Hh A ;. T TE A A
LR N e R FRTRL | Blha [ TRlha | bttt FIRde

[4-9] ¥RV ah]T v Tk i 1 [REAR (hET) nd nd nd 0.0073
FEMIBRESINA « KE(EAL : ng/m’) PRI 2 |ARBIRER BB R A v 2 — (AT 0.017 | 0.035 | 0.030 0.0073
A~ — 2B BEEE © 16/19(K % : 0) OB 3 BRI RS (LX) 0.013 | nd | 0.029 0.0073
FRARAS— A BB © 40/52(K % - 5) 4 INEIRAE UNERED) nd nd nd 0.0073
&P © nd~0.099 RN | 5 [RNREER Y2 2 — (FET) 0.023 | 0.066 | nd 0.0073
T BRE LR : 0.0073~0.0078 J W T3 6 | KA —MBRERSE R (1T 0.025 [ 0.0097 | 0.0094|  0.0078
T T BRAE : 0.0073 )11 7 |ANRREEREEE o 2 — (&IRTH) nd nd nd 0.0073
SRR T RRAE ¢ 0.01 Ry R 8 | RUrRBRBE AT (RE) 0.0077 | 0.0093 | 0.082 0.0073
AR | 9 [ THEREmMAR (4 &R 0.0092| - | 0.017 0.0073
TER I 10 |mEFFIRRAITES (FHhH) - 0.083 | 0.012 0.0073
TR 11 | AR BREEAFJE T CrLh ) 0.018 | 0.024 | 0.0088 0.0073
NG 12 | KkBA R a2 AR RIAE (RIRT) nd | 0.013 | 0.032 0.0073
S B 13 |NATHIB T (AT 0.036 | 0.072 | 0.020 0.0073
14 [yt Omdy i) 0.012 | 0.015 | 0.011 0.0075
Fakii b | 15 [Fnak LR BREEAT AR 2 —  CRiak(LiT) - ] 0.025 | 0.010 0.0073
fi] | Ly U 16 [MT—RRERBERKMER (BHTh) 0.099 | 0.010 | 0.027 0.0073
T R 17 |8 RS R R B o & —  (FlEE ) — | 0025 ] - 0.0073
eI | 18 [AEJuNmifR R BR B ZE T (AL LN i) 0.013 | 0.024 | 0.014 0.0073
Koy I 19 [ RO dise RS /N (K4 0.032 | 0.016 | 0.037 0.0073
[4-10] A > F /[1,2,3-c,d]E L > A& 1 |REAE (e 0.021 | 0.042 | 0.063 0.0086
PEMIBREINA - KR (HAL © ng/m’) R 2 RS BB R v 2 — (Th) 017 | 031 | 032 0.0086
S — 2 B ¢ 18/19(K I - 0) AR 3 |HOREERE R AR (LX) 0.086 | 0.040 [ 0.20 0.0086
RIS — 2B A« 49/52( K% - 5) 4 [IEIRRE UNEIER) nd nd nd 0.0086
P © nd~0.93 PRI | 5 [RRIITRBREER 2 v 7 — (&) 023 | 057 | 0.057 0.0086
B T IR &GP © 0.0086~0.0092 )1y T 6 | KRET—MEREERKIER (INRTH) 0.50 | 0.12 | 0.084 0.0092
T RRAE : 0.0086 A ) 1] S 7 |FENRAR R v & — (SR 0.026 | 0.036 | 0.033 0.0086
FORMH TERAE - 0.01 iy IR 8 | RHrIRBRBIR M TEET (RErT) 0.068 | 0.079 | 0.77 0.0086
AR | 9 [ TRREmAR (4R 0.084 0.15 0.0086
BT 10 |FAEFFIRR A TS (FiRT) 0.93 | 0.11 0.0086
FERT 11 PR A BREEA 2T (RUHT ) 021 | 023 | 0077 0.0086
KBF 12 | KBRERFE22aERIAE (M) 0.062 | 0.13 | 035 0.0086
ST R 13 [UHATHIREAr (AT 030 | 053 [ 0.14 0.0086
14 [y )it Omndy i) 0.13 | 020 | o.10 0.0089
gL | 15 [Foskil REREERTAEBFE R v & — CRuakilT) 0.17 | o0.11 0.0086
[ 111 Bk 16 |[VC—MRERERKPER (Bh) 0.67 | 0.093 [ 0.25 0.0086
i I e 17 | RN AR IR BB o & — (B ) - 0.19 0.0086
e | 18 [AESuN mifR s BEprgE AT (AR LN TiT) 0.12 | 020 | 0.14 0.0086
Ko 19 | KO HSEE K/ NER (KoTh) 027 | 015 | 030 0.0086
[4-11] X2 Vg ,h,i] =) L e I EEA D) 0.029 | 0.075 | 0.078 0.016
FEMIBREEINA  KE(EAT @ ng/m’) PRI 2 |ARBRRER S WEREER A v 2 — (AT 022 | 030 | 037 0.016
HR A~ — 2R AEEE © 18/19(K % : 0) AR 3 |HORERBREER SR (LX) 0.11 | 0.054 [ 023 0.016
FRARAS— 2 BB« 49/52(R % - 5) 4 INEIRAR USRS nd nd nd 0.016
&P © nd~1.1 )R | 5 [RNRESER 22— (FET) 025 | 0.60 | 0.075 0.016
T BRE IR : 0.016~0.017 J Iy T 6 | KRA—MBRERSE R () 058 | 0.15 | 0.11 0.017
T FERAE @ 0.016 7)1 5% 7 | ENRAR R v & — (AR 0.025 | 0.034 | 0.034 0.016
SRR T RRAE ¢ 0.01 Ry R 8 |RUpRERBEM AT (RE) 0.076 | 0.083 | 0.72 0.016
AR | 9 [ THRKEmMAR (4 &R 0.10 0.19 0.016
TCER I 10 |[REFFIERE TS (FihT) 1.1 0.11 0.016
TR 11 |FEB i A BR B ST T (i) 026 | 030 [ 0.079 0.016
NG 12 | KkBA R a2 AR RIAE (RIRT) 0.096 | 0.18 | 043 0.016
S B 13 |NATHIB T (AT 034 | 063 | 013 0.016
14 [yt Omdy i) 0.16 | 031 | 0.18 0.017
ki | 15 [k LR BREEAT AR R v 2 —  CRakLiT) 0.17 | 0.13 0.016
fi] | Ly S 16 [T —RRERBERKMESR (BHTh) 0.64 | 0.096 [ 0.26 0.016
T R 17 |8 RS R RSB o & —  (FlJE ) 0.20 0.016
eI | 18 [AEJuNmfR e BR B ZE T (AL ILN i) 0.12 | 023 | 0.14 0.016
Koy I 19 [ KR dise RS /R (K4TH) 028 | 0.16 | 032 0.016
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R 7 Hh A o T E A A
CESE U PP iy R FRTEL | B2 | D | bt TR
(BEW) [4-12] VX Vae] L BT 1 [REAR (hET) nd nd nd 0.011
FEMIBRESINA « KE(EAL : ng/m’) PRI 2 KBRS EERER e v 2 — (T 0.024 | 0.049 | 0.045 0.011
A~ — 2B BEEE © 16/19(K % : 0) D 3 BRI RS (LX) 0.015| nd | 0.034 0.011
TR A — 2R HHBEEE © 36/52(K %« 5) 4 INVEIRARE CUNEFF) nd nd nd 0.011
K Hi&EPE © nd~0.21 RN | 5 [RNREER Y2 2 — (FET) 0.032 | 0.095 | nd 0.011
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